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Chapter 9 Review

1. What are the three types of muscle tissue? Describe the structure and function of each.
2. Describe the 4 characteristics that are common to all muscle tissues.

3. List and describe the 4 main functions of the muscular system.

4. Describe how connective tissue associates with skeletal muscle.

5. Distinguish between a muscle’s origin and its insertion.
6. How are muscles attached to bones?
7. What is the functional unit of skeletal muscle? 
8. Describe the structure of a muscle fiber (cell).

9. Sketch a sarcomere and label each part.
10. Explain the function of a neuromuscular junction.

11. What is the sliding filament theory?

12. The neurotransmitter responsible for muscular contraction is _____________________________.
13. List the major events of muscle contraction.

14. Describe how calcium, tropomyosin, and troponin affect muscle contraction.

15. When do muscles relax? What role does Ca2+ play?

16. Define threshold potential.

17. Explain an all-or-none response.

18. Sketch a myogram of a single muscular twitch, and identify the latent period, period of contraction, and

      period of relaxation.

19. Distinguish between tetanus and tonus.

20. Explain how ATP and creatine phosphate interact.

21. Describe some causes of muscle fatigue and define this term.

22. Describe how an oxygen deficit may develop.

23. List and describe the 3 muscle fibers type.

24. How do muscles adapt to exercise?

25. Muscle-relaxing drugs are administered to a patient during major surgery. Which of the two chemicals

       described next would be a good skeletal muscle relaxant and why?

· Chemical A binds to and blocks ACh receptors of muscle cells.

· Chemical B floods the muscle cells’ cytoplasm with calcium.

26. Michael is answering a series of questions dealing with skeletal muscle cell excitation and contraction. In

       response to “What protein changes shape when calcium binds to it?” he writes “tropomyosin”.  What

       should he have responded and what is the result of that calcium binding?

